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Explain :

Correlation

Properties of Correlation Coefficient
Find Karl Pearson’s coefficient of correlation.
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The sum of squares of differences in ranks for two variables is 110 and the
coefficient of rank correlation is 0.5. Find the number of pairs of observations. 4

Explain :

(i)
(if)

Scattered diagram
Probable error
Obtain rank correlation coefficient from the following data :

OR
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Find the coefficient of correlation and interpret it.
n=10,x=15,y=18,Sx=3,Sy=4 Xxy =2640

What is regression ? Explain the difference between correlation and regression. 4
Obtain regression equation from the following data and also estimated value of y
for x = 50.

X
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45

40

51

44

Y

38

32

23

27
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In a bivariate data x =30,y =28, Sx =7, Sy =4 and r = 0.7 Find the proper

equation of regression line to estimate the value of y for x = 35.
OR

Define regression coefficient and state its properties.
The equation of two regression lines are x + 2y —5=0and 2x + 3y — 8 = 0. Find

X,yandr.
Find the proper equation of regression line to estimate the value of x for y = 30 for
the following data :

n=9,x =30,y =40, X(x — x)% = 120,

(Y —y)2 =346, 2(x — X) (y—y) = 193

P.T.O.



3. (3@

(b)

(a)
(b)

4.  (a)
(b)

(©)

(a)
(b)
(©)

1)
)
©)
(4)
(5)

(6)
(7)

NK-116

Define Arithmetic Progression and Geometric Progression. Also give the formula

to find the sum of first n term for it.

Attempt any three from the following :

() 2,6,10,14, ........... (40™ term)

(i) 32,16,8,4, ........... (sum of 8 terms)

(iii) The A.M. and G.M. of two numbers are respectively 40 and 32, find the
numbers.

(iv) The sum of three numbers in an A.P. is 45 and the product of first two

numbers is 105. Find these numbers.
OR

The sum of first 10 terms of an A.P. is 255 and the sum of its first 20 terms is

1010. Find the sum of its first 30 terms.

Attempt any three from the following :

(M 6,13,20,27,.......... (Sum of 15 terms)

(i) 243,81,27,9, ........ (10" term)

(iii) The A.M. and G.M. of two numbers are 15 and 9 respectively. Find the
numbers.

(iv) The sum of three numbers in a G.P. is 21 and their product is 216. Find the
numbers.

What is Interpolation and Extrapolation ? State its assumptions.
Calculate annuity at the age of 56 from the following data :

Age (in years) 35| 45 | 55 | 65

Annuity (R in lakh) 8.5(10.0|11.5| 15.0

If u, = x% — 3x + 7 then find the value of Eu, and Au,.

OR
If Uy =5, U; =32 and u;, =121 find U, and from that obtain Us.

If u, = x2—x + 1 then find Eu,and Au,.

Estimate the number of persons earning daily wages between ¥ 200 to 250 for the
following data :

Daily wages (less than ¥) | 100 | 200 | 300 | 400 | 500

Number of persons 80 | 120 | 200 | 230 | 250

Answer the following questions :

If Cov (X, y) = 30, v(x) = 100 and v(y) = 225 then find the value of r.

If rank correlation coefficient is 0.5 and n =8, then find the value of XdZ.
If byx =0.9and r = 0.6 then find the value of bxy.

In arithmetic progression T,, =— 88, a = 8 then find the value of d.

+
IfS, = an_lz then find 10™ term of an A.P.
State the relation between operator A and E.

State the expansion of (E — 1)3y0.
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